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1)

Convert the numbers as indicated.

a) L to a decimal number. b) 95 to a roman numeral.
c) 59 to a roman numeral. d) LXVIII to a decimal number.
e) 27 to a roman numeral. f) XCVIII to a decimal number.
g) 2 to a roman numeral. h) XXXVI to a decimal number.
i) III to a decimal number. j) 99 to a roman numeral.

2)

Convert the decimal number to a roman numeral.

a) 595 b) 898 c) 761 d) 115 e) 681 f) 321 g) 319
h) 442 i) 919 j) 995

3)

Convert the roman numeral to a decimal number.

a) XXVI b) CCXXXII c) MMMDCCCXV d) MMMDCCLXII
e) MMMMCLXXX f) CDXL g) DCXVI h) MMMCCCLXXXVII
i) MMCDXXXII j) CCLXXXVI

4)

Convert the numbers as indicated.

a) 1611 to a roman numeral. b) LIV to a decimal number.
c) CCCIV to a decimal number. d) CCCI to a decimal number.
e) MCDLXV to a decimal number. f) 1625 to a roman numeral.
g) 346 to a roman numeral. h) 1395 to a roman numeral.
i) 348 to a roman numeral. j) 1379 to a roman numeral.

Good Luck!
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